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MARKING SCHEME PAPER 2 _ STRUCTURAL QUESTIONS

Answer

a) Able to label

P : Mixture/ Campuran

Q: Element / Unsur
R: Compound / Sebatian

b) Able to match

I-t
i
I
I

Blood
Darqh
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a) Able to name the support systcm

- Endoskeleton
Rangka dalam

b) Able to state support system

Sample answer

Buoyancy of waterllwaler buoyancy
(Daya) keaptmgan air

Accept any suitable answer

c) Able to state the function

l. Support the body weight
fufenyoko ng he rctt ba.dan

2. Enable movement
M embo I ehkan p e r ge rak a n

3. Protect the internai organ
M elinrhtngi organ dalarnun

4. Gii'c body shape
fufemberi hentuk budan

Note any 2 answers

c) Able to statc other type of supltort systent

l. Exoskeleton
Rangka luar

2. Hydrostatic skeleton
Ilungkn hidro,stutik

TOTAL
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a) Able to state what is growth

(Grotwth ) is the change in stzel
shape/number of cell / body function.

(Pertumbuhan ) atlalah pentbaltan dari

saiz/ bentuk / bilangan sel / /imgsi hadan

b) Able to state the stage

P I Infancy
P / Rav"i

Note : do not accept

c) Able to state the

R / adolesccnce
R i Rema.ia

Note : do not accept

age

stage

age

dxi) Ablc to name the phase

Ferlile (phase)

( Fasa) subur//fusa kesuhff(tn

(ii) Able to state what happen

- Ovulation ll ovary releases ovum i/ ovum is
released by ovary ll ovary ovulate

Pengovttlan /i ovari rrcmhebasknn owtm //
owun dibebaskan oleh ovuri // ovari
mengl\,ulasi

(e) Able to circle the date

30 August
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axi) Able to state the method

Convection
Perolakan

(ii) Able to explain the method of heat flow

Hot water (at the bottom become less
dense and ) rises up.
Air panas (dibct+,ah menjadi kurang
tumpat dan) naik
Colder water (at the top is denser and )
moves down

Air se.luk ( di atas lebih tumpat ) turun ke
buwuh

(iii) Able to dravv the convection cumei-rt in the

beaker

Note: Accept if student draw only I cvcle or
draw outside the beaker

b) Able to explain

Hot air ( in the house) rises and moves out
through ventilation hole
LJtlaru pnnas dalum rumah naik dan
keluar melalui sisip angin
Cool air from outside (of the house)
blows in through the window
LJdara sejuk dari luar (nmah) mastk ke

dalam melalui tingkap.

TO'IAL
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a) Able to give reason

( FIe) applies a force to move ( the box) ll
use force to move (the box) /i the box
moves when (it is) pushed

(Dia) mengenaktn daya untuk
menggerakkun (kotak) // dava di gwrakan
rtntuk menggerakkan kotak // kotak
bergerak apabila ditolak

Notc . accept as long as the answer shows there is
force and distancc involved

b) Able to calculate work done

: 400Nx  2m

: fl00 J

Note : reward I mark for correct transfer of data
reward I mark lor correct answer with
correct unit

cxi) Able to mark the correct direction

<--

Note : accept if marks outside the box

(ii) Able to state suggest the way

l. (Put / Use ) roller (underneath)
(letak/ guna) penggolek ( dibawah )

2. (Put) the box in the trolley/ wheel
( Letak ) kotak di atas troli/roda

Note : Put oil on the floor is not practical -

reject.
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iii) Able to give reason

Sample answer

l . Frictional force (between the surfaces) is
lessen /lower
Doya geseran ( antara permukaun)
berkurang /menjadi kecil
Reduce the frictional force bctween the
surt-ace
Mengurangknn d ctya ge,t e ran an tora
permukaan

Note : Reject if answer mention disadvantage of

frictional force e.g produces heat, sound, slower

the movement.

dxi) Able to statc rvhat happen

( the man ) slip ll fall
( Orang ) tergelincir // jutuh

Note : reject 'cedera'

(ii) Able to givc rcason

Wet floor reduces/ lower fiictional force
(between floor and sole of the shocs)
Lantai ha.sah m enf{uran gkan/

nrcrendahkan duya geseran (antara lantai

dan tapak kasut)

Note : accept any suitable reason
Reject if - no frictional force

- frictional force is not mention
- slippery/ licin (not scientific

explanation)

2 .

TOTAL

8

TOTAL

8
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;iGt tbtr to iiate itre a-iiie'e".e

( Plant in pot ) B wilt faster ( than in A)
(Pokok dalam pasu ) B lebih cepat layu
(daripada A)

Vice versa

Able to give reascn

1. B has rnore leaves / morc stoma
B mempunyai lebih banltak daun / Iebih
banyak ,stoma
Vice versa

2. B loss more water because more leaves/
storna

B kehilangan lebih banyak sir kerana
mempunyai lebih hanyak daun/stoma
Vice versa

3. Transpiration in B is higher (than A)
T'ranspirasi dalam B lebih tinggi (dalam

A)
Vice versa

Note : any one answer

hxi) Able to name the strucfure

Stoma

(ii) Able to explain the activity of stoma.

The size of stoma decreased / smaller
Saiz stoma berkurangan lebih kecil

Less water is lost / tersejat ll low rate of
transpiration ll
Kurang air dihilangkan/ tersejat /l kadar
transpirasi rendah

c) Able to give factor' 
1. Light intensity

Keematan cahaya
Z. Temperafure (of surrounding) i heat

Suhu(seki ta i l /haba

I
I
I
I
I

t_---
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Moving atr / vvind
Udara bergerak / angin

Humidity of air
Kelemhapan udara

Any one factor

(d) Able to give importance of transpiration

l. T'ransport water and mineral salt up
Menganghft air dan garam mineral ke
Atas

2. Remove / excrete excess water
Menyingkirkan / mengurnuhkan air
berlebihan

3. Cool the plant
L{enyejukkan fitmbuhan

4. I-lelp to rnake cell turgid / maintain
turgidity of cell

Iulemhanm sel menjadi seSiah /t
mengekalkun kesegahan sel

(e) Able to expiain

Roots can absorbs water in the soil (to

replace the water loss due to
transpiration)l I wet soiI containl supply
water (fbr roots to absorb)
Akar boleh menyerap air clalilnt tunalt
(untuk menggantikan air vang terhilang
melalui trunspirasi) // tanalt basah
nrengantlungi air (yang boleh di.serap
akur.)

Accept any suitable answer
Reject - to prevent rvilti.ng ( redundant)

4.

I
I
I
I

I
I
I
I
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aXii)

auG-rc rtut* tr," ain o*tiliG t"iitiott

Floats (in water)
T'erapung/ timbul (dalam air )

Sinks (in water)
T'enggelam (dalarn air

Able to classify

Less dcnse than water - P
Denser than water - Q and R

aXiii) Able to state the infcrence

( i\n) object (will) Iloat because it is less

dense than water ll (an) object (will) sink

because it is denser than watcr
(Suant) oh.iek (akan.) terapung kerana ia

kurang tumpat dttripado air // (xrufi) objek
(ukan) tenggelam kerana ia lebih tumpat
daripada air.

a)(iv) Able to state the relationship

When/ If density of an object is higher than

density of water, the object sinks

Vice vcrsa
Apahila / Jika kehtmptttan ob.iek lehih tinggi
daripada ketumnatan air, maka ia akan

tenggelant.
Atau se,bulihtya.

(b) Able to predict

Cork - floats
Gabus - terapung/ timhi

Wood - sinks
Kayu - tenggelumtenggelum

TOTAL
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axi) Able to state the difference

l. Bulb in 8.1(b) is brighter than in 8.1(a)
Mentol da,lam 8.1(h) Iebih cerah/terang
daripada dalam 8.1(a)

Vice versa

2. Bulb in 8.1(b) brieht, bulb in 8. l(a) dim
Mentol dalam 8.I (b) cerahi terang,
mentol B.l (a) rnalap/kurang
terang/kurang cerah

3 " Bulb in 8.1(b) dim but bulb irr 8. I (a)
dirnmer
Mentol dalam 8.1(h)malap tetapi mentol
dalam 8.1(b) Iebih malap/semakin malap

(ii) Able to state inference

'Ihe 
bulb is brighter because the resistance

(in the circuit ) is less/lower llThebulb is
dirnrner because the resistance (in the
circuit) is morelhigher

Mentol tebih terang/cerah kerana rintangan
(dalam litar) kurang/rendah// Mentol kurung
terang/cerah kerana rintangan (dalam litrtr)
tinggi

(iii) Able to state the hypothesis

-'Ihe higher / more the resistancc (in the
circuit) the dimmer the bulb
Semakin tinggi/banyak rintangan (dalam
litar) semakin malap nyalaan mentol

- lf I When thc resistance (in the oircuit) is
higher / more, so the bulb is dimmer
Jika / apabila rintangan (dalam litar)
meningkat/ bertambah maka nyalaan
ntentol semakin ntalap.

Vice versa
The higher the resistance (in the circuit) the
lower the current.
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Semakin tinggi/banyak rintungan (dalam litar)

semakin rendah/kecil anrs.

(bxi) Able to state the variables

Manipulated variable - Value of resistance

Responding variable

Nilai rintangan

reading of ammeter
ll ammeter readrngll
value of current

Bacaan ammeter//
jliilai arus

(ii) Able to record the time

Az* ,30A

A :  - 2 .0A

c) Able to draw a graph

6

Resistance
value, Ohm
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Correct and smooth line - award I mark
Correct reading - award I mark

d) Able to define operationally

The current florv is shown by the reading of

e)

ammeter
Aru^s ntengulir dinnjukfuin oleh bacaan
antmeter

Able to predict the ammeter reading

2 . 4  A  +  0 " 1  A

Note: Dottod line on the graph shows how
student gct the reading

0 Able to make a conclusion

When the resistance in the circui,t is higher /

more the current is lower /r the higher the

resistance tlte lower the cunent (flow in the

circuit)
Jika rintangan (dalarn litar ) tinggi/
bertarnbah ants semakin rendah/kecil //

s emaki n tin.ggi rintungan sentctkin
rendah/kecil ants (mengalir drtlarn litar).

Vice versa

TOTAL

t2
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